We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted Materials for R&M of various vehicles and equipment as can be seen in the herein attached in the shopping / bidding for abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

GPV AUTO AIRCON REPAIR & SERVICES PHILGEPS Reg. No. : 2007-37201

QTY.	UNIT OF	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
	ISSUE	ADVENTURE		
7	1 4-	Engine Oil, Synthetic	650.00	4,550.00
1	ltr	Oil Filter	380.00	380.00
1	рс	Rolling Tinted Sunshade	1,700.00	1,700.00
1	pc lot	Windshield, Gen. Cleaning of Aircon, Silicon, Labor	12,000.00	12,000.00
1	101	windshield, Gen. Cleaning of Aircon, Sincon, Eason		,_,,
		DT#1		
2	pcs	Center Bolt	195.00	390.0
2	pcs	Bushing	150.00	300.0
2	pcs	Fin Bushing with Fittings	750.00	1,500.0
1	рс	Fan Coupling	11,736.00	11,736.0
1	рс	Hydraulic Hose assembly 1/4 x 7ft	10,320.00	10,320.0
1	рс	Hydraulic Hose assembly 3/4 x 8.8 ft	10,160.00	10,160.0
1	рс	Hydraulic Hose assembly 3/4 x 9.9 ft	10,160.00	10,160.0
1	pail	Hydraulic oil 68 synthetic	4,800.00	4,800.0
1	рс	Plastic Steel Epoxy, Big	280.00	280.0
1	lot	Matting Flooring	4,480.00	4,480.0
1	рс	Steel Epoxy, small	120.00	120.0
1	pail	Grease	9,204.00	9,204.0
1	set	Carbon Brush	48.00	48.0
1	рс	Steel Epoxy, big	192.00	192.0
5	pcs	Sand Paper #1000	32.00	160.0
2	pcs	Clutch Booster Repair Kit	400.00	800.0
1	рс	Cross joint 52 x 133	7,860.00	7,860.0
		DT#02		
2	pcs	Side Mirror	650.00	1,300.0
1	pc	Fan Coupling	11,736.00	11,736.0
1	pc	Fan Blade	8,744.00	8,744.0
1	set	Leafspring Assy Front	38,200.00	38,200.0
1	pcs	Fabrication of Starter Bushing	900.00	900.0
1	set	Carbon Brush	1,300.00	1,300.0
		SUB-TOTAL		153,320.0

IN WITNESS WHEREOF, we hereby affix our signatures this.

DULCE AMOR E. LAO
Planning Officer III

BAC Member

JEROME R BARCE ONA, JR., LPT

Administrative Officer V BAC Member

DR. FEBY DAR C. MANGLICMOT

Engr. MOSS L. SIMBAHAN

Engineer II

BAC Member

City Veterinarian

BAC Vice - Chairperson

Atty REY DANIEL S. ACEDILLO

City Legal Officer BAC Chair person

Engr. RIGOR JOHN A. ABUTAR

City Engineer End User

Approved by:

MARILOU . MORILLO

city Mayor

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for Materials for R&M of various vehicles and equipment as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

GPV AUTO AIRCON REPAIR & SERVICES PHILGEPS Reg. No. : 2007-37201

QTY.	UNIT OF	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
10	pcs	Sand Paper #800	25.00	250.00
2	pcs	Startic Switch	400.00	800.00
1	рс	Clutch Booster Assy	3,840.00	3,840.00
20	pcs	Stud Bolt, Original	880.00	17,600.00
		DT#03		
2	pcs	Adjuster Pulley Bearing	350.00	700.00
2	pcs	Belt	730.00	1,460.00
1	рс	Alternator Assy	29,600.00	29,600.00
2	pcs	Fabrication of Pin	1,800.00	3,600.00
1	рс	Starter Solenoid, Startic Switch 24v	560.00	560.00
1	рс	Fabrication of Starter Bushing	900.00	900.00
1	рс	Compressor	18,000.00	18,000.00
1	Itr	Oil, ordinary	300.00	300.00
2	рс	O-ring	50.00	100.00
1	lot	Freon	1,600.00	1,600.0
1	lot	Flushing Condenser	2,000.00	2,000.0
1	рс	Drier	800.00	800.0
1	lot	Labor:Installation of Flushing Condenser, Freon, Drier	3,000.00	3,000.0
2	рс	Flap 10 x 20	500.00	1,000.0
1	рс	Hydraulic Jack	7,500.00	7,500.0
2	sets	Tire with Inner Tube & Flap 10 x 20	22,500.00	45,000.0
		DT#04		
2	pcs	Center Bolt	250.00	500.0
2	pcs	WD-4D, big	550.00	1,100.0
2	sets	Tire with Inner Tube & flap 10 x 20	22,500.00	45,000.0
100	pcs	Rivet	75.00	7,500.0
1	рс	Hydraulic Jack	7,800.00	7,800.0
16	pcs	Brake Lining	1,088.00	17,408.0
1	рс	Air Filter	7,680.00	7,680.0
1	lot	Gen. Cleaning(freon, oil)	5,800.00	5,800.0
	-	SUB-TOTAL		231,398.0

IN WITNESS WHEREOF, we hereby affix our signatures this

Engr. MOSS L. SIMBAHAN

Engineer II **BAC Member** Planning Officer III

BAC Member

JEROME R. BAROLLONA, JR., LPT

Administrative Officer V BAC Member

DR. FEBY DAR C. MANGLICMOT

City Veterinarian BAC Vice - Chairperson Atty. REY DANIEL S. ACEDILLO

City Legal Office C. Chairperson Engr. RIGOR JOHN A. ABUTAR

City Engineer End User

Approved by:

MARILON F. MORILLO ity Mayor

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for Materials for R&M of various vehicles and equipment as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

GPV AUTO AIRCON REPAIR & SERVICES PHILGEPS Reg. No. : 2007-37201

QTY.	UNIT OF	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
	ISSUE	TIEM & DEGUMENTON		
2	sets	Tire with Inner Tube & flap 10 x 20	22,500.00	45,000.00
2	lot	Labor for Change Oil	960.00	1,920.00
		DT#05		
2	pcs	Ball Joint	350.00	700.00
2	pcs	Bolt/Nut	15.00	30.00
20	kls	Welding Rod, Special	125.00	2,500.00
1	рс	Magnetic Switch 2v	1,200.00	1,200.00
4	pcs	Relay 24v	250.00	1,000.00
		DT#05		
4	pcs	Hose clip	25.00	100.00
1	Itr	Vulcaseal	640.00	640.00
10	pcs	Bulb Single Contact 24v	48.00	480.0
10	pcs	Bulb Double Contact 24v	56.00	560.00
2	pcs	Clutch Booster Repair Kit	550.00	1,100.00
1	set	Side Mirror	1,300.00	1,300.00
1	set	Brake Lining Flaring Tools	960.00	960.00
1	pcs	Compressor	18,000.00	18,000.0
1	рс	Auxilliary Fan	4,800.00	4,800.0
1	рс	COG Belt	1,800.00	1,800.0
1	рс	Filter Drier	1,000.00	1,000.0
1	lot	Gen. Cleaning (Freon, Oil)	4,800.00	4,800.0
1	рс	Flushing Condenser	3,000.00	3,000.0
1	lot	Labor for Installation of Flushng Condenser	3,000.00	3,000.0
1	set	Tire with Inner Tube & Flap 10 x 20	22,500.00	22,500.0
1	set	Clutch Booster Assy	3,840.00	3,840.0
4	pails	Hydraulic oil 68, semi-synthetic	4,500.00	18,000.0
2	pcs	Gasket Maker	180.00	360.0
2	pcs	Teplon	20.00	40.0
1	lot	Pull-out of Injection and Repalced O-ring	9,600.00	9,600.0
6	pcs	Nozzle Reconditon	800.00	4,800.0
	-	SUB-TOTAL		153,030.00

IN WITNESS WHEREOF, we hereby affix our signatures this

DULCE AMOR E. LAO

Planning Officer III

BAC Member

JEROME R. BARCE ONA, JR., LPT

Administrative Officer V BAC Member

DR. FEBY DAR C. MANGLICMOT

Engr. MOSS LUSIMBAHAN

Engineer II

BAC Member

City Veterinarian

BAC Vice - Chairperson

Atty REY DANIEL S. ACEDILLO

City/Legal Officer

Chairperson

Engr. RIGOR JOHN A. ABUTAR

City Engineer

End User

Approved by:

MARILOU MORILLO

We the undersigned members of the Committee on Award, after careful deliberation on several prices quoted in the shopping / bidding for Materials for R&M of various vehicles and equipment as can be seen in the herein attached abstract of prices, hereby unanimously decide to accept the bids itemized there under for being the lowest calculated responsive bid to the government and awarding the same to the respective bidders.

The Items Awarded to:

GPV AUTO AIRCON REPAIR & SERVICES PHILGEPS Reg. No. : 2007-37201

Return Washer 560.00	QTY.	UNIT OF	ITEM & DESCRIPTION	UNIT PRICE	TOTAL PRICE
12 pcs DV Gasket 520.00 1 pc Fuel Filter 1,920.00 INNOVA SKM-721 1 2,600.00 1 set Carbon Brush 850.00 1 pc Alternator 12v, original 17,600.00 1 lot Gen. Cleaning 5,500.00 1 pc Evaporator, Front 5,800.00 1 pc Cabin Filter 1,000.00 6 ltr Coolant, Pink 400.00 1 pc Blower Motor, Front 6,500.00 1 lot Repair of Reserved Hose 800.00 1 pc Radiator Assy, Orig 9,500.00			Return Washer	560.00	3,360.0
1 pc Fuel Filter 1,920.00 INNOVA SKM-721 1 1 1 2,600.00 1 1 2,600.00 1 1 2,600.00 1 1 2,600.00 1 1 2,600.00 1 1 1,7600.00 2 2,600.00 1 1,7600.00 2 2,600.00 3 1,7600.00 4 1,7600.00 5,500.00 1,7600.00 1 1,7600.00 2 2,600.00 3 1,7600.00 4 1,7600.00 5 1,800.00 1 1,800.00 2 1,800.00 3 1,900.00 4 1,900.00 4 1,900.0	1			520.00	6,240.0
1 gal Automatic Transmission Fluid, Synthetic 2,600.00 1 set Carbon Brush 850.00 1 pc Alternator 12v, original 17,600.00 1 lot Gen. Cleaning 5,500.00 1 pc Evaporator, Front 5,800.00 1 pc Cabin Filter 1,000.00 6 ltr Coolant, Pink 400.00 1 pc Blower Motor, Front 6,500.00 1 lot Repair of Reserved Hose 800.00 1 pc Radiator Assy, Orig 9,500.00		-		1,920.00	1,920.0
1 set Carbon Brush 850.00 1 pc Alternator 12v, original 17,600.00 1 lot Gen. Cleaning 5,500.00 1 pc Evaporator, Front 5,800.00 1 pc Cabin Filter 1,000.00 6 ltr Coolant, Pink 400.00 1 pc Blower Motor, Front 6,500.00 1 lot Repair of Reserved Hose 800.00 1 pc Radiator Assy, Orig 9,500.00			INNOVA SKM-721		
1 pc Alternator 12v, original 17,600.00 1 lot Gen. Cleaning 5,500.00 1 pc Evaporator, Front 5,800.00 1 pc Cabin Filter 1,000.00 6 ltr Coolant, Pink 400.00 1 pc Blower Motor, Front 6,500.00 1 lot Repair of Reserved Hose 800.00 1 pc Radiator Assy, Orig 9,500.00	1	gal	Automatic Transmission Fluid, Synthetic		2,600.0
1 lot Gen. Cleaning 5,500.00 1 pc Evaporator, Front 5,800.00 1 pc Cabin Filter 1,000.00 6 ltr Coolant, Pink 400.00 1 pc Blower Motor, Front 6,500.00 1 lot Repair of Reserved Hose 800.00 1 pc Radiator Assy, Orig 9,500.00	1	set	Carbon Brush		850.0
1 pc Evaporator, Front 5,800.00 1 pc Cabin Filter 1,000.00 6 ltr Coolant, Pink 400.00 1 pc Blower Motor, Front 6,500.00 1 lot Repair of Reserved Hose 800.00 1 pc Radiator Assy, Orig 9,500.00	1	рс		17,600.00	17,600.0
1 pc Cabin Filter 1,000.00 6 ltr Coolant, Pink 400.00 1 pc Blower Motor, Front 6,500.00 1 lot Repair of Reserved Hose 800.00 1 pc Radiator Assy, Orig 9,500.00	1	lot	Gen. Cleaning	5,500.00	5,500.0
6 Itr Coolant, Pink 400.00 1 pc Blower Motor, Front 6,500.00 1 lot Repair of Reserved Hose 800.00 1 pc Radiator Assy, Orig 9,500.00	1	рс			5,800.0
Blower Motor, Front Repair of Reserved Hose Radiator Assy, Orig 6,500.00 800.00 9,500.00	1	рс			1,000.0
1 lot Repair of Reserved Hose 800.00 1 Pc Radiator Assy, Orig 9,500.00	6	ltr			2,400.0
1 pc Radiator Assy, Orig 9,500.00	1	рс		1	6,500.0
	1	lot			800.0
SUB-TOTAL	1	рс	Radiator Assy, Orig	9,500.00	9,500.0
			SUB-TOTAL		64,070.0

IN WITNESS WHEREOF, we hereby affix our signatures this

Engr. MOSS L. SIMBAHAN

Engineer II

BAC Member

DULCE ANOR E. LAO
Planning Officer III

BAC Member

JEROME REBARCE LONA, JR., LPT

Administrative Officer V

BAC Member

DR. FEBY DAR C. MANGLICMOT

City Veterinarian

BAC Vice - Chairperson

Atty. REY DANIEL S. ACEDILLO

City Legal Officer

BAC Chairperson

Engr. RIGOR JOHN A. ABUTAR

City Engineer

End User

Approved by:

MARILOU F MORILLO